2016 SRIEINE

1R B1E 2016412H3H
7 £5F2FA VS 13 BRiT2PA
A= A=
EIR2P BRII2RA BRIT2RA SBIR2PA
I : T e 1t 588 7
% - BER 7 AR = e 7 B
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wkl & | 4s | = | 420]| i | 3s | +2 | 200 | 6
> |mt] = | aNnT | 2| 50 | & | aNT | -2 | 50
3 |zAEl 46 | 2s | +3 | 200 | 46 | 4s | +1 | 450 6
4 |wal &= | as | 2 | 00| 5 | aNnT | = | 600 | 12
5 |mdt] 4t | 4sx | = | 790 | ® | 4D | +1 | -150 | 14
6 |FHAL & 3NT | +1 430 [£3] 3NT | +1 430
7 |wal & | anT | +2 | 150 | & | aNT | +1 | 120 | 1
8 |wxl| & | 2s | +2 | 170 | 4t | aNT | +1 | 430 6
o |%mEm| &= | 2Hx | = | 670 | &= | 4Hx | 2 | 500 15
10 [ WA/l i1t 4H +1 650 1t 4H +1 650
DATUM&iit iFE
E%&2PA BRiT2PA v 3+ ] 33 | 27
FREFEAIER 8 DER/SINE 9 ait 33 | 27
EIX/EEE -9 2T/ R -8 V.P. 12.18 | 7.82
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2 R VS 8 HLLKZE
H= A=
R A A R
It EEx % B T % %
B3 : FRElHE 7 BRFFE Fa : PREKIR A MRS
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 4S = 420 x 2D = -90 11
2 it [£3] 3Cx -3 -800 x 3NT -2 100 14
3 panyiie] [£3] 4S +1 450 [£3] 3S +3 230 6
4 PE=] x 4S -1 100 [ri] 3NT +1 -630 12
5 it [ri] 5D = -400 1t 5Sx -1 -200 5
6 ,?ﬁ [£3] 3NT +1 430 1t 4S = 420
7 PWE=] [£3] INT -1 -100 [£3] INT +2 150 6
8 |[XFk] it 4S = 420 3] 4S = 420
9 panyiie] 1t 3C -1 -50 1t 3C -1 -50
10 | \WHB [£3] 4S +2 680 [£3] 5S = 650 1
DATUMSit T
LR ALXE Y. %+ 30 | 25
TEES/FRElH -9 IR/ BRI -16 ait 30 | 25
X /MEE 16 FER/BEFF 9 V.P. 11.85 | 8.15
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3 Sleepless VS 9 KIELIPA
= HZ=
Sleepless KIELTBA KIELTBA Sleepless
3t BEZ IR SBE% it - BEE R ARE
B BHIE 79 : BREK [EZIR 79 : R X
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 3S +2 200 [£3] 3S +2 200
2 it R 3NT -1 50 R 3NT -1 50
3 |FAL B3 4S +1 450 it 4S +1 450
4 WE=] R 4S -1 100 [£3] 3Cx -1 -200 7
5 it [ri] 5D = -400 [ri] 5Dx = -550 4
6 |Hm| 4t 4S = | 420 | 4t S = | 420
7 |wal x® 2D | +1 | ;120 | = 1s | +1 | 110 6
8 [ XFk] it 4S = 420 3] 4S = 420
9 syt 1t 3C -1 -50 R 3H -1 100 4
10 [ XEB1l ™= 4S +1 650 1t 4H +1 650
DATUM&iit g
Sleepless FKIELTRA V. o] 11 10
=33/ EHIE -2 HEEE/ R O ait 11 10
BREMRY. O BRBLE/ERER 2 V.P. 10.39 | 9.61
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%1% B4R 2016412 H3H
4 sysujnuscut VS 10 I mME
H= H=
sysujnuscut T PUE T PUE sysujnuscut
It : Rk R ENK 3t : R5A R BRILR
7 : JEM 7Y : FREBIR M ABKE 7Y ;oK
ax | BR| Ex | = | s | @t mey |mR | ms | T | B
1 TS [£3] 3S +1 170 4S = 420 6
2 it [ri] 2D +2 -130 3NT -1 50 5
3 |FA| & 4s | +2 | 480 4S = | 420 2
4 WE=] [ri] 3NT +1 -630 7a 3NT = -600 1
5 |ggdbkl & | sHx | -1 | 200 | & 55 | -1 | -100 3
6 |Z&A| & 4S = | 420 | & | 3NT | +1 | 430
7 |wEl B | AINT | = 90 B | INT | = 90
8 | Xk it 4S = 420 3] 4S = 420
9 syt 1t 3C -1 -50 [£3] 3NT = 400 10
10 | WBE| & 4s | +1 | 650 | 4t 4H | +2 | 680 1
DATUM&iit g
sysujnuscut I'HE Y. =] 2 26
NI/ B -10 ZRHA/FREE 13 ait 2 26
b5 DR/ 5K g -13 E X K/PREBIR 10 V.P. 3.22 | 16.78
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5 [HERT VS 11 £RKBA
= A=
AT 2R AL AT
It B " BAE It A Bk
B B 7 )5 e % AR
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TG [£7] 4S +1 450 1t 3S +1 170 7
2 mit K 3NT -1 50 7 3NT -1 50
3 PN 1t 4S +1 450 1t 4S = 420 1
4 NE K 4S -1 100 K 3NT = -600 12
5 [E2p¢ =] 6SXx -2 -500 7 5D = -400 3
6 | ZRFA =] 4S = 420 1t 5S -1 -50 10
7 | XB| = 3S -1 -100 [£3] INT | +2 150 6
8 | XN =] 4S = 420 [£3] 4S +1 450 1
9 | Lrfg x 3H -1 100 1t 3C -2 -100 5
10 | B 1t 4H +2 680 [£3] 4S +1 650 1
DATUMZit i
[HERT ERRA r. 3t} 36 | 10
BERAkE 10 BB 23| &t | s | 1
INEIEERR S 23 2ELE/MN | EF -10 V.P. 17.16 | 2.84
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6 I EKEIPA VS 12 HEFBA
H= A=

[ ST E=TI [

1t - 7/0R 7 B 1t - =508 7 [

p——— 7 B & | 7 ERE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 4D -2 100 [£3] 4S = 420 8
2 it x 3NT -2 100 x 3NT -2 100
3 panyiie] 1t 4S = 420 [£3] 4S +1 450 1
4 PWE=] x 4Sx -2 500 [£3] 4Cx -3 -800 16
5 it 1t 5Sx -1 -200 [ri] 5D = -400 5
6 panyiie] [£3] 5D = 400 [£3] 3NT +1 430 1
7 PWE=] [£3] INT +2 150 [£3] INT +1 120 1
8 | XFk] it 4S = 420 3] 4S = 420
9 panyiic] 1t 3C -1 -50 1t 3C -1 -50
10 | \WHB 1t 4H +1 650 1t 4H +2 680 1

DATUMSit T
I $RE€IPA gEFPA Y. X+ 22 11

Fr/\BB/ S 13 Z25BH /5K ISR -6 ait 22 11
WrfE/EEE 6 DNE/ZHC 13 V.P. 13.72 | 6.28
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x| | R | m | R | mee| e | 2 |er axe| 20| T
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